PIT PAL PRODUCTS

Thank You For Choosing Pit Pal Products!

Your Purchase Is Greatly Appreciated!
Please continue to choose Pit Pal Products for all of your organizational needs
in the trailer, shop, or at the track.

Installation Instructions for #481 Stacked 2 Bay Fuel Jug Rack

Pit Pal Stacked 2 Bay Fuel Jug Rack

Hardware List:
12 - Flathead 1/4 20 x 3/4 bolt

20 - 1/4 20 nylon lock nuts Back:
20 - 1/4 washers 8 - 1/4-20 Flathead bolts
8 -1/420 x 3/4 bolt through back, top and bottom
[ 1
'4
o | 0
| O Top Shelf:
Y —— 4 - 1/4-20 Flathead bolts
/ Head up
)| W2 0

o

e Al
)

L 0t

Jug shelves locate / 8 - 1/4-20 x 3/4 bolts

inside of ends with 2 washers

Discover other garage accessories on our website.


https://www.carid.com/pit-pal/
https://www.carid.com/garage-accessories.html

